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A Algebra: using the Buess/check, mprove method to solve equations - Skiil 3.12

It is known that a solution to the equationx® — 4x2 . 14 Jies between 4.6 and 4.7, Find this solution
to 2 decimal places,

B Number skil‘ls: Converting hetween decimals and fractions

Skill 1.1,
1 Make these into bercentages to 2 decimal places: N
1 1 1 5
(a) 6-— (b} 5- (¢) 3- (d}y —
4 8 3 7
3 ' 1 1 1
(&) 2~ - () 11- (8) 9- (h) 5—
7 4 5 9
2 , 1 2 4
i 6- . H 1u- (k) 5— (1 9--
9 . 3 7 9
2 Make these into fractions:
C(a) 280% (b 540% () 67% (d) 68%
© 325% @ 934% (&) 38.4% (h) 29.6%
I  4.05% () 135% & 5.05% ‘ o 16%%
c Number applications: Increasing or décreasing quantities in a ratio : Skill 2.4
E 1 If William drinks 250 ml, of milk every 3 hours, then at this rate how many litres of milk '
E will he drink in: :
(a) 4 hours b) 6% hours (¢) 8hours
(d) 9% hours (e} 12 hours
2 Ifaflywheel in a wheat harvester turns 35 times every 15 minutes then how long wil it
take for the wheel to turn: _
(@) 70 times (b) 105 times (©) 177 times
(d) 874 times (€) 1571 times
Algebra: Solving complex quadratic equations | . Skill 3.11
Solve these equations by completing the Square, and express the solutions in surd form:
(@) P2-2x-10=0 () ¥+4x-13=¢ (€} P4+2x-5=¢
@ x2—dx+1=0 ° (€ x>+6x-11=0 ® x2-6x-20=0
Use the general quadratic equation to solve these equations, and express the solutions in
surd form: .o
() x*+3x—7=9 (©) A?+5x-7=0
(& x>-4x_11=9p ) »2-x-10=0
teslan plane: Finding the gradient of a line between two points Skill 5.1

(b) (0,0)and(1,-4) (€) (1,1)and (4,-3)
(®) (-2,5)and 3,-5)

ind the gradient of the line between these points using the formula method:

E‘) (1, 1yand (4, 5) (b) (3,6)and (2, 8) (©) (1, 1) and (4, -2)
D (1, ands,2) (& (-3,2)and 4, -6)
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